
13.2 single source shortest path (Dijkstra's algorithm)
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Dijkstra's while loop:

currentPriority = pq.peekPriority
currentVertex = pq.remove
currentDist = dist.get(currentVertex)

nextV = e's destination
nextDist = currentDist + e's weight

dist.insert(nextV, nextDist)
pq.insert(nextDist, nextV)

if dist doesn't contain nextV

dist.update(nextV, nextDist)
pq.insert(nextDist, nextV)

else if nextDist < dist.get(nextV)

for every outgoing edge e from current Vertex:
if currentDist == currentPriority

while pq is not empty:
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